
 \  1  \ 

1.	 Attach base clamp to  
table top. Tighten clamp to 
hold in place.

The tools needed to assemble the monitor  
arm(s) can be found inside a removable sleeve  
in the lower arm. The driver needed to attach  
the monitor(s) to the monitor mounting plate  
is not included in this box.

3.	Insert the rubber cap  
into the opening in the  
monitor arm.

2.	Insert the monitor arm 
into the base clamp. Slip the 
black bushing, M8 washer 
and M8x35mm screw into the 
opening in the monitor arm. 
Tighten the M8 screw in place 
using the provided tools.

4.	Attach the monitor mounting plate to 
the back of the computer monitor using 
four provided M4x10mm screws.

b. Secure the monitor 
mounting plate to the 
monitor arm using the 
locking plate.

5.	Gently press down the 
monitor mounting plate into  
the opening at the top of the 
monitor arm. Note the locking 
plate at the top of the monitor 
arm may be blocking the open-
ing and will need to be slid into 
the unlock position to expose 
the opening.

Single  
Monitor  

arm

DETAIL B

SLIDE FORWARD

B

DETAIL B

SLIDE FORWARD

B

MONITOR ARMS
Installation & User Manual



 \  2  \ 

2.  Assemble the branch adapter to 
the base clamp.

a. Locate the branch adapter

b. Remove the plastic cap 
and take out the M8x35mm 
screw and M8 washer located 
beneath it.

A

B

C

D

c. Insert branch adapter into 
base clamp.

A

B

C

D

A

B

C

D

d. Secure the branch adapter 
to the base clamp using the 
previously removed M8x35mm 
screw and M8 washer. Use the  
provided tools to tighten the 
screw in place. Reattach the 
plastic cap in the same position  
it was removed from.

A

B

C

D 5.	Refer to steps 4—5 on page 
one of this guide for remaining 
assembly.

Dual 
Monitor  

arm

1.	 Attach base clamp to table top. 
Tighten clamp to hold in place.

MONITOR ARMS
Installation & User Manual

3.	Insert the dual monitor arms 
into the branch adapter. Slip the 
black bushing, M8 washers and 
M8x35mm screws into the openings 
in the monitor arms. Tighten the M8 
screws in place using the provided 
tools.

4.	Insert the rubber caps into the 
openings in both monitor arms.

132842 Rev B


